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(- ) (a)i™3} divergence theorem ? :#3¥it2 - (10 7J)
(b) 1 o 4| = [ (xdydz +(y + 9)dzdx + zdxcly) » £ ¢ 4479
dm S 2 AN A xP+y?ez?=9- (10 57)

(Z) EFX=x'"-4x*+6x>-x-4 "' A={(1) _31 » FF(A) o (20 57)

(Z) %t20Faz %8 % f(t)=e"F LM X Laplace transform 3
L(f(t))=S S TR R F MRS f25% vy +4y'+3y =0, y(0)=3,

y(©0)=1- (20 53)
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(z) % - 4 5 & ™% semiconductor wafer =» = & # 5 X cm? ezg B o
ax, 09<x<11
0, elsewhere

F- YR AAA0.95em 2 1,05 cm® B2 F A ? (20 57)

% X 2_ probability density function % f(x):{

() FKz=x+iy » 3EP coshz =coshxcosy+isinhxsiny o (20 7})






